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TNUSRB – SI 2022 

FULL TEST - 01 

ehs; & Njjp : nrt;tha;fpoik> 14> [{d;> 2022      Time / fhyk; : 2:30 kzp 

Neuk; : fhiy 10.00 kzp Kjy; 12:30 kzp tiu          Total Marks / nkhj;j kjpg;ngz;fs; : 70 

Instructions – mwpTiufs; 

1. This question paper contain 70 questions in part A (General knowledge) and 30 questions in  part B 
(Psychology) related subjects. 
,t;tpdhj;jhspy; gFjp „m‟ nghJ mwptpy; 70 tpdhf;fSk; kw;Wk; gFjp „M‟ cstpay; rk;ke;jkhd 
ghlq;fspy; 30 tpdhf;fSk; cs;sd. 

2. The type of question paer (A,B,C or D) should be shaded in the answer sheet using blue or black ball point 
pen. The answers sheet without shading the type of question paper will not be evaluated. 
,e;j tpdhj;jhspd; tifia (A,B,C or D)tpilj;jhspy; mjw;Fz;lhd ,lj;jpy; ePyk;. (m) fUg;G epw ghy; 
ghapd;l;Ngdhitf; nfhz;L vOjp gpd; gl;il jPl;lTk;. tpdhj;jhspd; tifia gl;il jPl;lhtpl;lhy;> me;j 
tpilj;jhs; kjpg;gplg;glkhl;lhJ. 

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet. 
tpilj;jhspy;> ePyk; (m) fUg;G epw ghy; ghapd;l; Nghditf; nfhz;L gjpT vz;iz mjw;Fupa fl;lj;jpy; 
vOjp> gpd; gl;il jPl;lTk;. 

4. Answer all the 140 questions should be shaded in the relevant circles using blue or black ball point pen. 
Answer all the 140 questions- 140 Nfs;tpfSf;Fk; tpilaspf;f Ntz;Lk;. 

5. Each question carries half a mark. xt;nthU Nfs;tpf;Fk; miu kjpg;ngz; toq;fg;gLk;. 
6. The answers to the question should be shaded in the relevant circles using blue or black ball point pen. 

tpilfis ePyk; (m) fUg;G epw ghy; ghapd;l; Ngdhitf; nfhz;L me;je;j tl;lq;fspy; gl;il jPl;lTk;. 
7. For each question only one answers is to be chosen and shaded. 

xU tpdhtpw;F xU tpilia kl;LNk gl;il jPl;lTk;. 
8. For wrong and improper shading, no marks will be given. 

jtwhf gl;il jPl;bdhNyh> mbj;jy; jpUj;jq;fs; nra;jhNyh me;j Nfs;tpf;F kjpg;ngz;fpilf;fhJ. 
9. Write the Registration No. in the question paper- gjpT vz;iz Nfs;tpj;jhspy; vOjTk;. 
10. Write the SI.No of the OMR answer sheet in the question paper at the appropriate place. 

OMRtpilj;jhspd; vz;iz Nfs;tpj;jhspy; vOjTk;. 
11. If there is any printing error in page No. in the question paper , the same should be brought to the notice of 

the invigilator immediately. 
ckJ tpdhj;jhspy; VNjDk; mr;Rg; gpioNa> gf;fq;fs; rupahf ,y;yhtpl;lhNyh> Nkw;ghh;itahshplk; 
Kiwapl;L rupahd Nfs;tpj;jhisg; ngw;Wf; nfhs;SkhW mwpTWj;jg;gLfpwJ. 

12. All the questions are bilinguial except language questions (English & Tamil) 
ghlg;gFjp (Mq;fpyk; kw;Wk; jkpo;) Nfs;tpfis jtph;j;J midj;J Nfs;tpfSk; ,uz;Lk; nkhopfspYk; 
nfhLf;fg;gl;Ls;sd. 

 

tpdhj;jhspd; tupir vz;. tpdhj;jhspd; tif gjpT vz; 

OMR tpilj;jhspd; vz; 
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1. „nre;jkpo;r; nrk;ky;‟ vd;W Nghw;wg;gLgtu; 
A) fhy;Lnty;      B) [p.A.Nghg;   
C) tPukhKdptu;      D) NjtNea ghthzu; 
 

2. Which of the following factors does not affects transpiration? 

A) Temperature  B) wind speed  C) Humidity   D) Datum 

ePuhtpg; Nghf;fpid vf;fhuzp ghjpf;fhJ? 
A) ntg;gepiy  B) fhw;wpd; Ntfk;  C) <ug;gjk;   D) cauk; 
 

3. We can cut the DNA with the help of? 

A) Scissors      B) restriction Endonucleases    

C) Knife       D) RNA Ase 

DNA ntl;lg; gad;gLk; nehjp? 
A) fj;jhpf;Nfhy;      B) nu];l;upf;]d; vz;NlhepA+f;spNa]; 
C) fj;jp       D) RNA nehjpfs; 
 

4. The human erythrocytes contain adequate amount of __________ enzymes? 

A) Carbonic kinase     B) Carbonic amylase  

C) Carbonic Ligas     D) Carbonic anhydrase 

kdpj ,uj;j rptg;G mZf;fspy; NghJkhd msT ……….. nehjp cs;sJ? 
A) fhh;Nghdpf; fpNd];     B) fhh;Nghdpf; mkpNy]; 
C) fhh;Nghdpf; ypNf];     D) fhh;ghdpf; md; i`l;Nu]; 
 

5. After ovulation endocrine part of ovary is called as? 

A) Corpus callosum B) Corpus luteum  C) Corpus Spongioum D) Corpus albicans  

mz;ltpLg;gpw;Fg; gpd; ehskpy;yh gFjpahd mz;lfk; …………. vd miof;fg;gLk;. 
A) fhh;g]; fNyhrk;     B) fhh;g]; Y}l;bak;   
C) fhh;g]; ];ghd;rpak;     D) fhh;g]; my;gpfd;];; 
 

6. Energy Centro of a sperm is? 

A) Middle piece  B) Head   C) Tail    D) Entire sperm 

xU tpe;J nry;ypd; Mw;wy; ikakhf ,Ug;gJ? 
A) eLg;gFjp  B) jiy   C) thy;   D) KO tpe;J 
 

7.  In human, which type of cells are affected by malarial parasite? 

A) Liver cell and RBC     B) RBC & WBC   

C) RBC and TH cells      D) RBC & Epithelial cells 

kdpjdpy; kNyhpah xl;Lz;zpapdhy; ve;j tif nry;fs; ghjpf;fg;gLfpwJ? 
A) fy;yPuy; nry; kw;Wk; ,uj;j rptg;G mZf;fs; B) rptg;G (k) nts;is mZf;fs; 
C) rptg;G kw;Wk; TH nry;fs;    D) rptg;G kw;Wk; vgpjPypay; nry;fs; 
 
 

PART ‘A’ : General Knowledge 
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8. Which Gupta king was given the title of „Kaviraja‟? 

A) Chandragupta - I     B) Samudragupta  

C) Chandragupta - II     D) Kumara Gupta 

ve;j Fg;j murUf;F „ftpuh[h‟ gl;lk; toq;fg;gl;lJ? 
A) Kjyhk; re;jpuFg;jh;     B) rKj;jpuFg;jh; 
C) ,uz;lhk; re;jpuFg;jh;     D) Fkhu Fg;jh; 
    

9. The Drug most widely used against AIDS virus is? 

A) Zidorudine  B) Miconozole   C) Nawoxylol   D) Virazole  

AIDS caph;nfhy;yp itu];f;F vjpuhf gad;gLj;jg;gLk; kUe;jpd; ngau;? 
A) irNlhUbd;  B) ikNfhNdhNrhy;  C) ehNdhiryhy;  D) tpuNrhy; 
 

10. Which sector has the maximum level of disguished unemployment in india? 

A) Agricultural  B) Industry   C) Trade   D) Transport 

,e;jpahtpy; mjpf msT kiwKf Ntiyapd;ik epyTk; Jiw vJ? 
A) Ntshz;ik  B) njhopy;   C) thzpgk;   D) Nghf;Ftuj;J 

 
11.  „fhtpa jh;rk;‟ vd;Dk; tlnkhop ,yf;fz E}iyj; jOtp vOjg;gl;l ,yf;fz E}y; 

A) tPuNrhopak;  B) njhd;D}y; tpsf;fk; C) jz;bayq;fhuk;  D) Nekpehjk; 
 

12. rupahd ,iziaf; fhz;. 
1) gjpndz; fPo;fzf;F E}y;fSs; Gwg;nghUs; rhu;e;j xNu E}y; - fstop ehw;gJ 
2) fsj;jpd; tiffshd Vh;f;fsk;> Nghh;f;fsk; vd;gdtw;Ws;> Nghu;f;fs;k; gw;wpg; ghLtJ – fstop 
  ehw;gJ. 
3) xt;nthU ghlypd; ,Wjp nrhy;Yk; „ml;lfsj;J‟ vd;W KbAk; E}y; - ngha;ifahu; ghba 
   fstop ehw;gJ. 
4) rhd;Nwhh; tpyf;fpad xopj;jYk;> tpjpj;jd nra;jYk; - mwk; 
A) 1>3 kw;Wk; 4   B) 1>2 kw;Wk; 3   C) 2>3 kw;Wk; 4  D) midj;Jk; rup 
   

13. nghUj;Jf. 
1) mofpa ngupatd; - (a) yq;fhGupuh[h 
2) gpukps;   - (b) ahidlhf;lu; 
3) ngupatd; ftpuhau; - (c) jfg;gd; nfhb 
4) n[aNkhfd;  - (d) jpUkiy KUfd; gs;S 
A) 1(b) 2(c) 3(d) 4(a)     B) 1(c) 2(a) 3(d) 4(b) 

C) 1(c) 2(b) 3(a) 4(d)     D) 1(a) 2(b) 3(c) 4(d) 

 
14. Analogy:-  Cricket: Bat, Hockey: _______ 

A) Field   B) Stick   C) Player    D) Ball 

 

15. Fill up with correct preposition. 

I was born ______ the Great war ended 

A) so   B) in    C) after   D) at 
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16. Newton‟s third law is applicable? 

A) For a body is at rest     B) For a body in motion 

C) Both A and B      D) Only for bodies with equal messes 

epA+l;ldpd; %d;whk; tpjp gad;gLtJ? 
A) Xa;T epiyapy; cs;s nghUs;   B) ,af;f epiy nghUs; 
C) A & B       D) rk epiwAs;s nghUspy; 
 

17. Which is used to measure the potential difference? 

A) A diode   B) Resistor   C) Voltmeter   D) Amplifier   

kpd;dOj;j NtWghl;il mstpl gad;gLtJ? 
A) ilNahL  B) kpd;jilahf;fp  C) Nthy;l;kPl;lh;  D) Mk;gpyp/igh; 
 

18. Who was the first chief Justice of the Supreme Court? 

A) Harilal J.Kania      B) K.G.Balakrishnan  

C) Sir Hari Sing Gour     D) Parmanada Katara 

cr;rePjpkd;wj;jpd; Kjy; jiyik ePjpgjp ahh;? 
A) `upyhy; J. fdpah     B) K.G. ghyfpU\;zd; 
C) rH `up rpq; nfsH     D) gHkhde;j fl;uh 
 

19. The concept of “Rule of Law” was adopted from which country? 

A) Britian   B) USA   C) Canada   D) Irish 

‘rl;lj;jpd; Ml;rp’ vd;w fUj;J vq;fpUe;J vLf;fg;gl;lJ? 

A) gpupl;ld;  B) mnkupf;fh   C) fdlh   D) maHyhe;J 
 

20. The coefficient of range 5
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 tPr;rpd; nfO _______ 

A) 7   B) 10    C) 0.7    D) 0.07 

 

21. Find value of 
𝐿𝑡

𝑥 → 0
 𝑥2 sin  

1

𝑥
  

kjpg;G fhz;f: 𝐿𝑡
𝑥 → 0

 𝑥2 sin  
1

𝑥
  

A) ∞   B) −∞    C) 0    D) 1 

 

22. Which of the following is called as „ATP‟ factory of the cell? 

A) Chloroplast  B) Mitochondria  C) Cytoplasm  D) None 

vJ ATP njhopw;rhiy vd miof;fg;gLfpwJ? 
A) gRq;fzpfk;  B) ikl;Nlhfhz;l;hpah C) irl;Nlhgpshrk;  D) VJkpy;iy 
 

23. Which one of the following Hormones is naturally not found in plants? 

ve;j `hu;Nkhd; ,aw;ifahf jhtuq;fspy; fhzg;gLtjpy;iy? 
A) 2,4 D   B) GA3   C) Gibberellin/[pg;uy;ypd; D) IAA 
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24. The work done by the conservative force for a closed path is? 

A) Always negative B) Zero   C) Always positive   D) Not defined 

xU %ba ghijf;F Mw;wy; khw;wh tpirapdhy; nra;ag;gl;l Ntiy? 
A) vg;NghJk; vjph;Fwp     B) Rop    
C) vg;NghJk; Neh;Fwp      D) tiuaWf;fg;glhjJ 
 

25. “Oru Paisa Tamilan” was the Journal of 

A) Periyar       B) Rettaimalai Srinivasan 

C) M.C. Rajah      D) Iyothee Thassar 

“xU igrh jkpod;” vd;gJ ahUila gj;jphpf;if? 
A) nghpahh;       B) ,ul;ilkiy rPDthrd;   
C) M.C. uh[h      D) mNahj;jp jhrh; 
 

26. The position of earth farthest from the sun is termed as  

A) Perihelion  B) Aphelion   C) Solstice   D) Equinox  

Gtp #upadpypUe;J kpfj;njhiytpy; ,Uf;Fk; epiy ,t;thW miof;fg;gLfpwJ. 
A) ngup P̀ypad;  B) mg;̀ Pypad;  C) fjpu;jpUg;gk;  D) rkgfypuT 
 

27. If 𝑥 +
1

𝑥
= 5 then 𝑥3 +

1

𝑥3 is ________ 

𝑥 +
1

𝑥
= 5 vdpy; 𝑥3 +

1

𝑥3 kjpg;G ________ 

A) 90   B) 110    C) 120   D) 80 

   

28. The slope of angle ′𝜃‟ between two pts  −3,−2 (−3,−4)  

 −3,−2 (−3,−4) vd;w Gs;spfSf;F ,ilNa rha;T Nfhzk; ′𝜃‟  ______ 

A) 0°   B) 30°    C) 60°    D) 90° 

 

29. Arrange the vijayanagar kingdom dynasties in chronological order. 

1. Saluva Dynasty     2. Aravidu Dynasty   

3. Thuluva Dynasty    4. Sangama Dynasty 

A) 4, 1, 3, 2  B) 4, 1, 2, 3   C) 4, 3, 2, 1   D) 4, 2, 1, 3 

tp[aefu NguuR tk;rq;fis fhythpirg;gLj;Jf. 
1. rhSt tk;rk;  2. MutPL tk;rk; 3. JSt tk;rk; 4) rq;fk tk;rk; 
A) 4> 1> 3> 2  B) 4> 1> 2> 3   C) 4> 3> 2> 1   D) 4> 2> 1> 3 
 

30. The Harappan Period „Great Bath‟ was in  

A) Harappa  B) Mohanjo-Daro  C) Lothal   D) Banawali 

`ug;gh fhy „ngUq; Fsk;‟ mike;j efuk; vJ? 
A) `ug;gh   B) nkhfQ;rjhNuh  C) Nyhj;jy;   D) gdthyp 
 

31. The „tinkathiya‟ system was practiced om  

A) Khada   B) Sabarmathi  C) Champran  D) Ahmadabad 

„jPd; fhjpah‟ Kiw gpd;gw;wg;gl;l ,lk; 
A) Nflh   B) rgh;kjp   C) rk;guhd;   D) mfkjhghj; 
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32. Match the following: 

a) Swarajya party  - 1) 1919 

b) Muslim League - 2) 1923 

c) Khilafat Movement - 3) 1907 

d) Surat split  - 4) 1906 

nghUj;Jf: 
a) Rauh[;[pa fl;rp - 1) 1919 
b) K];yPk; yPf;  - 2) 1923 
c) fpshgj; ,af;fk; - 3) 1907 
d) #uj; gpsT  - 4) 1906 
A)   2   4   1   3      B)   2   1   4   3 

C)   4   2   1   3      D)   4   3   2   1 

 

33. The Battle in which Babur did not take part was 

A) Battle of Khanwa      B) Battle of Chanderi  

C) Battle of Kanauj     D) Battle of Ghagra 

 ghgh; gq;Nfw;fhjg; Nghh; 
A) fhd;th Nghh;  B) re;Njhpg; Nghh;  C) fd;Ndhrp Nghh;  D) fhf;uh Nghh; 
 

34. Which of the following is an auto immune disease? 

A) Asthma      B) SCID    

C) AIDS       D) Multiple sclerosis  

fPo;fz;ltw;Ws; vJ Ra jilfhg;G Neha;? 
A) M];Jkh      
B) jPtpu xUq;fpize;j jilfhg;G FiwT Neha; 
C) va;l;];      
D) gy;$l;L nrjpy; Neha; 
 

35. Cirrhosis of liver is caused by chronic intake of? 

A) Opium   B) Alcohol   C) Tobacco   D) Cocaine  

fy;yPuypd; rpNuhrp]; ehs;gl;l cl;nfhs;sy; gpd;tUtdtw;wpy; vtw;wpd; fhuzkhf Vw;gLfpwJ. 
A) xg;gpak;  B) My;f`hy;  C) Gifapiy  D) Nfhfdpd; 
     

36. Which of the following is not a solid planet? 

A) Mercury   B) Venus   C) Earth   D) Jupiter 

gpd;tUtdtw;Ws; vJ jplf;Nfhs; my;y? 
A) Gjd;   B) nts;sp   C) G+kp    D) tpahod; 
 

37. The longest Inland water way of India is  

A) Haldia – Allahabad canal      B) Sadiya – Dhubri canal 

C) Kurnool – cuddapah canal    D) Damodar canal 

,e;jpahtpd; kpf ePskhd cs;ehl;L ePu;topg; ghij 
A) `hypNl – myfhghj; fhy;tha;   B) rhba Jg;gpup fhy;tha; 
C) fHD}y; flg;gh fhy;tha;    D) jhNkhjH fhy;tha; 
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38. What is the length of Indus river in Indian territory?  

,e;jpa epyg;gFjpf;Fs; rpe;J ejpapd; ePsk; vd;d? 
A) 719 km   B) 700 km   C) 709 km   D) 740 km 

 

39. Name of the location of evergreen forest 

A) Temperate region B) Equatorial region  C) Subtropical region  D) Polar region 

gRikkhwh fhLfspd; miktplk; ahJ? 
A) kpjntg;gkz;ly gFjp    B) epy eLf;Nfhl;Lg; gFjp 
C) Jizntg;g kz;ly gFjp    D) JUt kz;lyk; 
 

40. Which of the following are gaseous planets? 

A) Mercury, Earth  B) Venus, mars  C) Saturn, Neptune  D) Pluto, Earth 

gpd;tUtdtw;Ws; thAf;Nfhs;fs; vit? 
A) Gjd;> G+kp  B) nts;sp> nrt;tha;  C) rdp> neg;bA+d;  D) GSNlh> G+kp 
 

41. Which Amendment Act reduced the Voting age of Indian citizens from 21 to 18? 

ve;j murpayikg;G rl;lj;jpUj;jj;jpd; %yk; ,e;jpa Fbkf;fspd; thf;fspf;Fk; taJ ,Ugj;jp 
xd;wpypUe;J gjpndl;lhff; Fiwf;fg;gl;lJ? 
A) 69   B) 61    C) 73    D) 52 
 

42. Who conducts Local body elections in States? 

A) Election commission of India   B) Nirvanchan Sadan 

C) Election Commission of State   D) Chief election officer 

khepyq;fspy; cs;shl;rp Njh;jiy elj;JtJ ahh;? 
A) ,e;jpa NjHjy; Mizak;    B) epHthd;rhd; rjhd; 
C) khepy NjHjy; Mizak;    D) khepy NjHjy; mYtyH 
 

43. Who is Head of the Government of India? 

A) Speaker      B) The president   

C) The chairman      D) The Prime Minister 

,e;jpa murhq;fj;jpd; jiytu; ahu;? 
A) rghehafH  B) FbauRj; jiytH C) jiytH   D) gpujkH 
 

44. Which organization established “New Development Bank”? 

Gjpa tsh;r;rp tq;fpia epWtpa mikg;G vJ? 
A) ASEAN  B) SAARC   C) BRICS   D) OPEC 

 

45. Which prime Minister Simla Agreement Signed? 

A) Rajiv Gandhi  B) Indra Gandhi  C) V. P. Singh   D) Moraji Desai 

ve;j gpujkh; rpk;yh xg;ge;jj;jpy; ifnaOj;jpl;ltu;? 
A) ,uh[pt; fhe;jp B) ,e;jpuh fhe;jp  C) tp.gp. rpq;   D) nkhuh[p Njrha; 
  

46.  „,tiug; Gupe;Jnfhs;tjd; %yNk FwpaPl;baj;ijAk; Ghpe;J nfhs;s KbAk;‟ – njhlh;Gilatu; 
A) vh;d];;l; fhrpuu;     B) ghg;Nyh ne&lh   
C) thy;l; tpl;nkd;     D) ];nl/ghd; ky;yhu;Nk 
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47. ,aw;ngaNuhL nghUj;Jf. 
1) b.Nf. Jiu];thkp  - (a) tz;zjhrd; 
2) jUK rptuhK   - (b) gRta;ah 
3) Re;ju uhkrhkp   - (c) eFyd; 
4) fy;ahz Re;juk;  - (d) gpukps; 
A) 1(d) 2(b) 3(a) 4(c)     B) 1(b) 2(a) 3(c) 4(d) 

C) 1(a) 2(d) 3(b) 4(c)     D) 1(c) 2(d) 3(b) 4(a) 

 
48. Positive form of “More” 

A) Most   B) Much   C) More   D) Less 

 

49. Call me _____ you need money 

A) so that   B) in order    C) incase   D) in order that  

 

50. He _____ (go) for a walk in every morning 

A) go   B) goes   C) went   D) going 

 

51. NITI Aayog came into existence in the place of  

A) Planning commission    B) Finance commission   

C) Banking commission    D) Education commission 

‘epjp MNahf;’ eilKiwf;F tUtjw;F Kd;G ,Ue;j mikg;G? 

A) jpl;lf;FO  B) epjpf;FO   C) tq;fpf;FO   D) fy;tpf;FO 

 
52. In which year the agricultural price commission was set up in India? 

A) 1962   B) 1963   C) 1964   D) 1965 

,e;jpahtpy; tptrha tpiyf;FO ve;j tUlk; Vw;gLj;jg;gl;lJ? 
A) 1962   B) 1963   C) 1964   D) 1965 

 

53. Basically Dr. M. Swaminathan is a/an 

A) Space Scientist     B) Environmental Economist 

C) Agricultural Scientist     D) Economist 

mbg;gilapy; Dr. M. Rthkpehjd; xU …………… Mthu;. 
A) tpz;ntsp tpQ;Qhdp     B) Rw;Wg;Gw #oy; nghUspay; mwpQu; 
C) Ntshz;ik tpQ;Qhdp    D) nghUshjhu Nkij 

 

54. If 𝑃 𝐴 =  0.52, 𝑃 𝐵 =  0.43, 𝑃 𝐴 ∩ 𝐵 = 0.24 then 𝑃(𝐴 ∩ 𝐵) ________ 

𝑃 𝐴 =  0.52, 𝑃 𝐵 =  0.43, 𝑃 𝐴 ∩ 𝐵 = 0.24 vdpy; 𝑃(𝐴 ∩ 𝐵) ________ 

A) 0.28   B) 0.71   C) 0.29   D) 0.76 

 

55. 𝑎 ∶ 𝑏 = 6 ∶ 7, 𝑏 ∶ 𝑐 = 8 ∶ 9 then 𝑎 ∶ 𝑐 _________ 

𝑎 ∶ 𝑏 = 6 ∶ 7, 𝑏 ∶ 𝑐 = 8 ∶ 9 vdpy; 𝑎 ∶ 𝑐 _________ 

A) 6 : 9   B) 27 : 28   C) 16 : 21   D) 1 : 2 
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56. What are Agriculture subsidies? 

A) Payment for industrial growth   

B) Payment for supporting income 

C) Payment made to farmer for production supporting income 

D) Payment for financial growth 

Ntshz;ik khdpak; vd;why; vd;d? 
A) njhopy; tsu;r;rpf;F mspg;gJ 
B) tUkhdj;jpw;F Mjuthf mspg;gJ 
C) tptrhapd; cw;gj;jpf;Fk; mtdpd; tUkhdj;jpw;f;F Mjuthf mspg;gJ 
D) epjp tsu;r;rpf;fhf mspg;gJ 

 
57. Who shitted the capital from Delhi to Devagiri ? 

A) Mohammad-Bin-Tughlaq    B) Ghiyas-din-Tughlaq 

C) Firuz Tughlaq      D) Nasir-ud-din-Mohammad shah 

jiyefiu nly;ypapypUe;J Njtfphpf;F khw;wpath; 
A) KfkJ-gpd;;-Jf;sf;     B) fpahRjPd; Jf;sf; 
C) /ngNuh]; Jf;sf;     D) eRUjPd;KfkJ \h 
 

58. Who is the Chairman of Tenth Finance Commission? 

A) KC. Pant  B) Y.B. Chavan  C) Sri Mahavir Tyagi D) K. Santhanam 

gj;jhk; epjpf;FOtpd; jiytu; ahu;? 
A) KC. ge;j;  B) Y.B. rthd;  C) =kfhtPu; jpahfp  D) K. re;jhdk; 

 
59. Who is the first Governor of Reserve Bank of India? 

A) Sir Osborne Smith     B) Sir James Taylor   

C) H.V.R. Iyangar     D) M. Narasimhan 

,e;jpa upru;t; tq;fpapd; Kjy; ftu;du; ahu;? 
A) ru;. M];Nghd; ];kpj;     B) ru;. N[k;]; nla;yu;  
C) vr;.tp.Mu;. ma;aq;fhu;     D) vk;. eurpk;kd; 

 
60. The work done by the sun‟s gravitational force on the Earth is? 

A) Always Zero      B) Always positive 

C) Can be positive or negative    D) Always negative 

Gtpapd; kPJ #hpadpd; <h;g;gpay; tpir nra;Ak; Ntiy? 
A) vg;NghJk; Rop     
B) vg;NghJk; Neh;Fwp cilaJ 
C) Neh;FwpahfNth (m) vjph;FwpahfNth mikAk; 
D) vg;NghJk; vjph;Fwp cilaJ 
 

61. Greatest ionizing  power of particles? 

A) Alpha  rays  B) Beta (𝛽) rays  C) Gamma(𝛾) rays  D) All of these 

mjpf madpahf;Fk; Mw;wiyg; ngw;wpUf;Fk; Jfs;? 
A) 𝛼- Jfs;  B) 𝛽 - Jfs;   C) 𝛾- Jfs;   D) midj;Jk; 
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62. Lord Cornwallis introduced the to  

A) Ryotwari system     B) Jagirdari system   

C) Mahalwari system     D) Zamindari system 

fhud; thyp]; gpuG nfhz;L te;jJ. 
A) uaj;thup Kiw     B) [hfpu;jhup Kiw  
C) kfy;thup Kiw     D) [kPd;jhup Kiw 

 

63. What is the objective of Pradhan Mantri Grameen Sadak Yojana? 

A) Villages were linked to cities   B) Districts linked to cities  

C) Every village is linked to a major town  D) Villages are linked with each other 

gpujhd; ke;jpup fpuhkpd; rjf; Nah[dh jpl;lj;jpd; Nehf;fk; vd;d? 
A) fpuhkq;fis khefuq;fNshL ,izj;jJ 
B) khtl;lq;fis khefuq;fNshL ,izj;jJ 
C) xt;nthU fpuhkj;ijAk; Kf;fpa efuq;fNshL ,izj;jJ 
D) xt;nthU fpuhkq;fisAk; xd;NwhL xd;W ,izj;jJ. 

 
64. Helio- centric theory was proposed by? 

A) Copernicus  B) Ptolemy   C) Aryabhata   D) Kepler 

#hpa ikaf; nfhs;ifia ntspapl;lth;? 
A) Nfhgh;epf];  B) jhykp   C) Mh;agl;lh   D) nfg;sh; 

  

65. Which of the following group will have the highest electron affinity? 

A) Noble gases  B) Halogen   C) Alkali metals  D) Chalcogens 

gpd;tUk; jdpkq;fSs; vJ mjpf vyf;l;uhd; ehl;lj;ij nfhz;Ls;sJ? 
A) ke;j thAf;fs; B) N`y[d;fs;  C) fhu cNyhfq;fs; D) rhy;Nfh[d;fs; 
 

66. Which Allotropes of carbon conducts electricity? 

A) Diamond  B) Graphite   C) Fullerene   D) Coal 

fhh;gdpd; ve;j GwNtw;Wik tbtk; kpd;rhuj;ij flj;JfpwJ? 
A) ituk;   B) fpuhigl;   C) /Gy;yphPd;   D) epyf;fhp 
  

67.  Which is known as calamine used for the treatment of skin disease? 

A) Sodium Carbonate     B) Zinc Carbonate   

C) Potassium Carbonated    D) Calcium Carbonate 

fhyikd; vdg;gLk; Njhy; rpfpr;irapy; gad;gLk; Ntjpg;nghUs; vJ? 
A) Nrhbak;; fhh;gNdl;     B) Jj;jehf fhh;gNdl;  
C) nghl;lhrpak; fhh;gNdl;    D) fhy;rpak; fhh;gNdl; 
   

68. The Nuclei 6C
13

 and  7N
14 can be described as? 

A) Isotopes  B) Isotones   C) Isobars   D) Isomers 

6C
13 kw;Wk; 7N

14 Mfpa mZf;fUf;fs; vt;tif?  

A) INrhNlhg;Gfs; B) INrhNlhd;fs;  C) INrhghh;fs;  D) INrhnkh;fs; 
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69. If 𝐴 is square matrix and symmetric then ________ 

𝐴 vd;gJ xU rJu mzp kw;Wk; rkr;rPh; vdpy; ________ 

A)  𝐴𝑇 𝑇 = 𝐴  B) 𝐴𝑇 = 𝐴−1   C) 𝐴𝑇 = 𝐴   D) 𝐴𝑇 = −𝐴 

 

70. The volume of cube if the diagonal is 4 3 𝑐𝑚 

4 3 nr.kP %iytpl;lk; nfhz;l fdr;rJuj;jpd; fdmsT ______ 

A) 30 𝑐𝑚3   B) 46 𝑐𝑚3   C) 60 𝑐𝑚3   D) 64 𝑐𝑚3 

 

71. The year in which English Education was introduced in India 

,e;jpahtpy; Mq;fpyf; fy;tp mwpKfg;gLj;jg;gl;l Mz;L 
A) 1800   B) 1835   C) 1857   D) 1878 

 

72. Bhoodan Movement was stated by 

A) Gandhiji  B) J.P. Narayan  C) Ambedhkar  D) Vinoba Bhave 

G+kpjhd ,af;fj;ijj; njhlq;fpath; 
A) fhe;jpabfs;  B) J.P. ehuhaz;  C) mk;Ngj;fh;   D) tpNdhgh ghNt 
   

73. Which smelling substance added to LPG? 

A) Ethyl mercaptan B) Methane   C) Ammonia   D) Helium 

kzj;jpw;fhf LPG y; Nrh;f;fg;gLk; thA? 
A) vj;jpy; nkh;fhg;ld; B) kPj;Njd;   C) mk;Nkhdpah  D) P̀ypak; 
 

74. Which is called desert Rose? 

A) Plaster of Paris  B) Gypsum   C) Solid CO2   D) Alum 

ghiytd Nuh[h vd miof;fg;gLtJ? 
A) ghhp]; rhe;J  B) [pg;rk;   C) jpz;k CO2   D) gbfhuk;.  

 

75. jtwhd ,iziaf; fhz;f. 
A) jy Guhzk; ghLtjpy; ty;ytu; - kPdhl;rp Re;jdhu;. 
B) akf me;jhjp> jpupge;jhjp> ntz;gh me;jhjpfs; Mfpatw;iw cUthf;fp Gfo;ngw;wtu; 

kfhtpj;Jthd; kPdhl;rp Re;judhu; 
C) jkpo;g; gjpg;Gyfpd; jiykfd; - kPdhl;rp Re;jdhu; 
D) kPdhl;rp Re;judhupd; khztu; - c.Nt. rhkpehju; 
 

76. Fill up: 

If we ______ to the radio, we _____ news 

A) listen, would hear      B) had listen, will hear 

C) listen, will hear     D) would listen, hear 

 

77. Deepa likes tennis ______? 

A) didn‟t she  B) doesn‟t she  C) don‟t she   D) willn‟t she 
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78. Which organelle of the following occurs only in plant cells? 

A) Peroxisome  B) Glyoxysome  C) Desmosome  D) Ribosome 

jhtu nry;fspy; kl;LNk ,Uf;Fk; Ez;ZWg;G vJ? 
A) nguhf;rpNrhk;  B) fpisahf;]pNrhk;  C) nl];NkhNrhk;  D) iuNghNrhk; 
  

79. “Pink revolution” is associated with 

A) Onion   B) Crops   C) Dairy farming  D) Flowers 

‘,sQ;rptg;G Gul;rp’ ,jDld; njhlu;GilaJ 

A) ntq;fhak;  B) gapu;fs;   C) ghy; gz;izj; njhopy; D) kyu;fs; 
 

80. A Codon is a sequence of 3 nucleotides on? 

Nfhlhd; (Codon) vd;gJ ,jd; njhlhpy; %d;W epA+f;spNahilLfs; MFk;? 
A) t-RNA   B) m-RNA   C) r-RNA   D) hn-RNA 

 
 
 

 Select the Related Number / word / letter? 

rupahd ,iziaf; fhz;f. 
 

81. 46 : 48 : : 61 : ? 

A) 67   B) 71    C) 65    D) 63 

 

82. VOT : SLQ : : HRX : ? 

A) EMS   B) KOC   C) EOU   D) RVH 

 

 Find the odd one  / jtwhd xd;iw Nju;f? 
 

83. A) Car – Road /   B) Water – Ship  C) Track – Train  D) Sky – Aeroplane 

A) fhh; - rhiy  B) jz;zPh; - fg;gy;  C) jlk; - njhlu;tz;b D) thdk; - tpkhdk; 
 

84. A) 12 – 24  B) 14 – 28   C) 44 – 88   D) 33 – 77 

 

85. If CAT is coded as 3120, then NAVIN is coded as? 

CAT vd;gij 3120 vd;W vOjpdhy;> NAVIN vd;gij vt;thW vOJtu;? 
A) 1 4 1 2 2 9 1 4 B) 4 9 2 7 4 6 5 4  C) 7 3 9 5 7 6 1 4  D 2 2 1 4 1 9 1 4 

 
86. If TRAIN is coded as MRZIG, then FACTOR is coded as? 

TRAIN  vd;gij MRZIG vd;W vOjpdhy;> FACTOR vd;gij vt;thW vOJtu;? 
A) ILXGUZ  B) ILGXZU   C) UZXGLI   D) UZGXIL 

 

87. If MATERIAL is coded as RIALMATE, then REMEMBER is coded as? 

MATERIAL  vd;gij RIALMATE vd;W vOjpdhy;> REMEMBER vd;gij vt;thW vOJtu;? 
A) REMEREBM  B) MBEREMER  C) MBERREME  D) MBERREEM 

PART ‘B’ : Psychology 
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 Find the missing Number in series? 

tpLgl;l vz;iz fhz;f? 
 

88. 23, 24, 26, 27, 29, ? 

A) 31   B) 30    C) 33    D) 32 

 

89. 7, 16, 27, 40, 55, ? 

A) 70   B) 72    C) 81    D) 66 

 

90. 0, 1, 5, 14, 30, 55, ? 

A) 65   B) 76    C) 81    D) 91 

 

91. 5, 8, 12, 17, 23, ? 

A) 30   B) 72    C) 65    D) 48 

 

 Find the missing letter in series 

tpLgl;l vOj;ijf; fhz;f. 
 

92. PCM, REO, TGQ, VIS, ? 

A) XKU   B) WLV   C) XLV   D) WKU 

 

93. b_cb_c_b_ 

A) bbcb   B) ccbb   C) bbbc   D) cbcb 

 

 Arrange the following words according to English dictionary 

gpd;tUk; thu;j;ijfis Mq;fpy mfuhjpapy; cs;sij Nghy; tupirg;gLj;jTk;. 
94. 1) Slunk   2) Slung   3) Slump   4) Slum 

A) 4,3,2,1   B) 3,2,4,1   C) 3,1,4,2   D) 1,2,3,4 

 

95. If today is Wednesday, after 162 days it will be? 

A) Saturday  B) Thursday   C) Wednesday  D) Tuesday 
,d;W Gjd;fpoik vdpy;> 162 ehl;fs; fopj;J vd;d fpoik? 
A) rdpf;fpoik  B) tpahod;   C) Gjd;fpoik  D) nrt;tha; 
 

96. 1 × 3 × 5 ⇒ 1925, 7 × 9 × 11 ⇒ 4981121, 19 × 21 × 23 ⇒ ? 
A) 361529441  B) 361441289  C) 441361289  D) 361441529 
 

97. 3 × 4 × 5 ⇒ 435, 4 × 3 × 2 ⇒ 342, 2 × 3 × 4 ⇒ ? 

A) 324   B 342    C) 432   D) 243 
 

98. Rakesh is on 9th position from top and 38th position from bottom in a class. How many students are 
in the class. 
uhNf\; vd;gtd; xU tFg;gpy; NkypUe;J 9-Mk; ,lKk;> fPopUe;J 38-Mk; ,lKk; ngw;Ws;shd; 
vdpy; tFg;gpy; vj;jid khztu;fs; cs;sdu;. 
A) 47   B) 45    C) 46    D) 48 
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99. Manish is 14th from right end in a row of 40 boys. What is his position from Left end? 

kdp\; vd;gtd; 40 Ngu; nfhz;l khztu; tupirapy; tykpUe;J 14-tjhf tUfpwhd; vdpy;> 
,lkpUe;J mtd; ,lk; vd;d? 
A) 26   B) 27    C) 28    D) 29 

 

 Choose venn diagram that relates three things. 
3-Ak; njhlu;G gLj;Jk; ntz;glj;ij Nju;f. 
 

100. Languages, French, German 

nkhopfs;> gpnuQ;R> n[u;kd;. 

A)   B)    C)    D)  

 

101. Dog, carnivore, Tiger 

eha;> mirt cz;zp> Gyp 

A)   B)    C)    D)  

 

 Which one will replace the question mark ? 

Nfs;tp FwpaPl;l ,lj;jpy; tuNtz;baJ vd;d? 
102.  

5 8 32 

9 6 48 

7 9 ? 

A) 45   B) 48    C) 54    D) 64 

 

103.  

 
A) 48   B) 58    C) 59    D) 95 

 

104. Rahul put his timepiece on the table in such a way that at 6 P.M. hour hand points to North. In which 

direction the minute hand will point at 9.15 P.M. ? 

A) South-East  B) South   C) North   D) West 

uhFy; xU fbfhuj;ij NkirNky; itf;fpwhd;. khiy 6 kzpf;F NeuKs; tlf;F Nehf;fp 
,Uf;fpwJ vdpy;> ,uT 9:15 kzpf;F epkplKs; ve;j jpiria Nehf;fp ,Uf;Fk;? 
A) njd;fpof;F  B) njw;F   C) tlf;F   D) Nkw;F 
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105. Simplify / RUf;Ff: 
1.2 ×1.2 ×1.2−0.2 ×0.2 × 0.2 

1.2 ×1.2+1.2 ×0.2+0.2 ×0.2
 

A) 1.2   B) 1    C) 0.2    D) 1.4 

 

106. Simplify / RUf;Ff: 
𝑥3

𝑥−2
+

8

2−𝑥
 

A) 𝑥2 − 2𝑥 + 4  B) 𝑥2 + 2𝑥 + 4  C) 𝑥2 − 2𝑥 − 4  D) 𝑥2 + 2𝑥 − 4 

 

107. Shyam is Riya‟s brother. Mohini is the mother of Anuj. Riya is the daughter of Ram. Anuj is 

shyam‟s brother. How is mohini related to Ram? 

A) Daughter  B) Mother   C) Sister   D) Wife 

\;ahk; vd;gtu; upahtpd; rNfhjud;. Nkhfpdp vd;gtu; mD[pd; jha;. upah vd;gtu; uhkpd; kfs;. 
mD[; vd;gtu; \;ahkpd; rNfhjud;. Nkhfpdp vd;gts; uhkpw;F vd;d cwT? 
A) kfs;   B) jha;   C) rNfhjup   D) kidtp 
 

108. Count the number of squares in the given figure. 

nfhLf;fg;gl;l glj;jpy; vj;jid rJuq;fs; cs;sd? 

  
A) 32   B) 30    C) 29    D) 28 

 

109. Count the number of squares in the given figure. 
nfhLf;fg;gl;l glj;jpy; vj;jid rJuq;fs; cs;sd? 

 
A) 8   B) 12    C) 15    D) 18 

 

110. The total ages of Amar, Akbar and Anthony is 80 years. What was the total of their ages three 

years ago ? 

mku;> mf;gu; kw;Wk;; me;Njhzpapd; nkhj;jtaJfs; 80 MFk; vdpy;> %tupd; taJfspd; $Ljy; 3 
tUlj;jpw;F Kd;du; vd;d? 
A) 71 years  B) 72 years   C) 74 years   D) 77 years 

 

111. Two bus tickets from city A to B and three tickets from city A to C cost Rs. 77 but three tickets 

from city A to B and two tickets from city A to C cost Rs. 73. What are the fares for cities B and C 

from A ? 

A vd;w efuj;jpypUe;J B vd;w efuj;jpw;F nry;y  ,uz;L bf;nfl;LfSk;>  A vd;w efuj;jpypUe;J 
C vd;w efuj;jpw;F nry;y %d;W bf;nfl;LfSk; tpiy &gha; 77 MFk;. Mdhy; A-tpypUe;J B-
apw;F %d;W bf;nfl;LfSk;> A-tpypUe;J C-apw;F ,uz;L bf;nfl;LfSk; tpiy &gha; 73 MFk;.  
vdpy;> A-tpypUe;J B kw;Wk; C-w;F vt;tsT &gha; bf;nfl;?  
A) Rs. 4, Rs. 23  B) Rs. 13, Rs. 17  C) Rs. 15, Rs. 14  D) Rs. 17, Rs. 13 
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112. A pineapple costs Rs. 7 each. A watermelon costs Rs. 5 each. X spends Rs. 38 on these fruits. 

The number of pineapples purchased is 

igdhg;gps; gok; xd;W 7 &ghAk;> ju;g+rzp xd;W 5 &ghAk; vd tpw;gid nra;ag;gLfpwJ. X 
vd;gtu; &gha; 38I ,e;j goq;fSf;F nrytpLfpwhu;. vdpy;> mtu; thq;fpa igdhg;gps; gok; 
vj;jid? 
A) 2   B) 3    C) 4    D) Date inadequate  

 

113. Storage of information is called ______. 

A) Attention  B) Sensation   C) Perception   D) Memory 

jfty;fis Brfupg;gJ _______ vdg;gLk;. 

A) ftdk;   B) g[yd;czu;t[  C) g[yd;fhl;rp  D) epidthw;wy; 

 

114. ______ and thought are intimately related. 

A) Book   B) Language   C) Song   D) Education. 

_____ kw;Wk; rpe;jid xd;BwhL xd;W nize;jjhFk;. 

A) g[j;jfk;  B) bkhHp   C) ghly;   D) fy;tp 

 

 DIRECTIONS (Q.Nos. 115 - 119)  

Observe the pie chart and answer the question based on this graph. 

Percentage Break-up of Cost for Making a Book 

 
115. The angle for the sector on paper cost is 

fhfpj tpiyapd; (paper cost) Nfhz msit fhz;f? 

A) 22
1°

2
   B) 16°    C) 54.8°   D) 36° 

 

116. If the printing cost is Rs.17500, the royalty cost is 

mr;rbf;Fk; nryT (printing cost) &. 17500 vdpy;> cupikf;fhd (royalty cost) njhif? 
A) Rs.8750   B) Rs.7500   C) Rs.3150    D) Rs.6300 

 

117. If the miscellaneous expenses are Rs. 6000, how much more are binding and cutting cost than 

miscellaneous expenses? 

,ju nryTfs; (miscellaneous expenses) &.6000 vdpy;> ntl;Ljy; kw;Wk; Nru;gjw;fhd (binding and 

cutting) fl;lzk; ,ju nryTfis tpl vt;tsT mjpfk;? 
A) Rs.23000   B) Rs.21000   C) Rs.18000    D) Rs.15000 
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118. The paper cost is approximately what per cent of printing cost? 

fhfpjj;jpd; tpiy (paper cost) Njhuhakhf mr;rbf;Fk; tpiyapy; (printing cost) vt;tsT rjtPjk;? 
A) 20.3%    B) 28.6%   C) 30%    D) 32.5% 

 

119. The angle for the sector on Royalty cost is? 

cupikf;fhd (Royalty cost) Nfhz msit fhz;f? 
A) 62°   B) 54°    C) 72°    D) 86° 

 

120. Six friends A, B, C, D, E and F are sitting in a circle. C is to the left of D, F is between A and E, 

and E is between F and D. Who is to the left of F? 

A, B, C, D, E, F Mfpa MW ez;gu;fs; Xu; tl;lj;jpy; mku;e;Js;sdu;. C vd;gtu; D-w;F 
,lJGwj;jpy; cs;shu;. F vd;gtu; A kw;Wk; E-w;F ,ilapy; cs;shu;. E vd;gtu; F kw;Wk;  D-apd; 
,ilapy; cs;shu; vdpy; F-d; ,lJGwj;jpy; ahu;? 
A) A   B) C    D) D    D) E 

121. Of the five members standing in a row facing North R is to the right of U but to the left of Q. P is 

to the right of Q but to the left of S. Find the member in the middle of row? 

5 Ngu; Xu; tupirapy; tlf;F Nehf;fp mku;e;Js;sdu;. mjpy; R vd;gtu; U-w;F tyJ Gwj;jpYk;  Q-
w;F ,lJGwj;jpy; cs;shu;. P- vd;gtu; Q-w;F tyJGwj;jpYk; S-w;F ,lJGwj;jpYk; cs;shu; vdpy; 
tupirapd; eLtpy; ahu; cs;shu;? 
A) Q   B) R    C) P    D) S 

 

122. Study the following information and answer the question given below: 

Six friends P,Q,R,S,T and U are sitting in a row in the North direction. R is between P and T,S is 

not in the end point. Q is immediate right of T. U is not at the right end.  

Who is to the immediate left of R? 

nfhLf;fg;gl;Ls;s jftiyg; gbj;J> fPo; cs;s Nfs;tpfSf;Fg; gjpy; juTk;. 
P,Q,R,S,T kw;Wk; U Mfpa MW ez;gh;fs; tlf;F Nehf;fp thpirahf mkh;e;Js;sdh;. R vd;gth; P 

f;Fk; T f;Fk; eLNt cs;shh;. S vd;gth; filf;Nfhbapy; ,y;iy. Q vd;gtu; T-w;F tyg;Gwk; 
cldbahf cs;shu;. U vd;gtu; tyf;Nfhbapy; ,y;iy. R-f;F cldb ,lJGwj;jpy; ,Ug;gtH 
ahH? 
A) T   B) P    C) T or P   D) S 

 

123. David divides 78 by half and adds 11. What number he gets at the end ?  

Nltpl; vd;gtd; 78-I miuahy; tFj;J mjDld; 11-I $l;bdhy; ,Wjpapy; mtDf;F fpilf;Fk; 
vz; vJ? 

A) 50   B) 44
1

2
   C) 167    D) 83

1

2
 

 
124. The sum of all the 3-digit numbers which are formed by the digits 1, 2 and 3 without repetition of digits, is  

1> 2> 3 vd;w vz;fis gad;gLj;jp cUthFk; %d;W ,yf;f vz;fspd; $Ljy; vd;d? (Fwpg;G: 
,yf;fq;fs; XNu xU Kiw kl;LNk gad;gLj;j Ntz;Lk;. 
A) 1233   B) 1321   C) 1323   D) 1332 
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125. Read the information and give answer. 
In the Olympic games, the flags of 6 nations were flown in the following way: 

The American flag was to the left of Indian flag and to the right of French flag. The Australian flag 

was on the right of Indian flag, but was to the left of Japanese flag, which was to the left of 

Chinese flag. 

Which are the 2 flags that are in the centre? 

A) Indian and Australian flags   B) American and Indian flags 

C) Japanese and Australian flags  D) American and Australian flags 

jftiy ed;F gbj;J> Nfs;tpfSf;Fg; gjpy; juTk; 
xypk;gpf; tpisahl;by; 6 ehLfspd; Njrpaf; nfhbfs; fPNo cs;sthW gwf;ftplg;gl;bUe;jd. 
mnkhpf;ff; nfhb ,e;jpaf; nfhbapd; ,lJ GwKk;. gpnuQ;Rf; nfhbapd; tyJ GwKk; gwe;J. 
M];jpNuypaf; nfhb ,e;jpaf; nfhbapd; tyJ GwKk;. rPdf; nfhbapd; ,lJ Gwk; gwe;J 
nfhz;bUe;j [g;ghdpaf; nfhbapd; ,lJ GwKk; gwe;jJ. 
ve;j ,uz;L nfhbfs; eLtpy; gwe;jd? 
A) ,e;jpah kw;Wk; M];jpNuypaf; nfhbfs;  B) mnkhpf;f kw;Wk; ,e;jpaf; nfhbfs; 
C) [g;ghdpa kw;Wk; M];jpNuypaf; nfhbfs; D) mnkhpf;f kw;Wk; M];jpNuypaf; nfhbfs; 
 

126. Average of 10 numbers is 7. If every numbers is multiplied by 12. What will be the average of new 

numbers? 

Kjy; 10 vz;fspd; ruhrup 7 xt;bthU vz;iza[k; 12-My; bgUf;Fk; BghJ 

fpilf;Fk; g[jpa ruhrup vd;d? 

A) 70   B) 96    C) 82    D) 84 

 

127. Siva’s salary was decreased by 50% and subsequently increased by 50% How much percent does he lose in 

whole? 

rpth vd;gtupd; rk;gsk; 50% Fiwf;fg;gl;L gpd;g[ 50% mjpfupf;fg;gl;Ls;sJ vdpy;, 

bkhj;jj;jpy; mtUf;F vt;tst[ rjtPjk; rk;gsk; Fiwe;Js;sJ? 

A) 0   B) 15    C) 25    D) 37 

 

128. If income of Ravi is 20% more than that of Ram, then income of Ram is how much percent lessthan that of 

Ravi? 

utpapd; rk;gsk; uhkpd; rk;gsj;ij tpl 20% mjpfk;, uhkpd; rk;gsk; utpapd; rk;gsj;ij 

tpl vt;tst[ rjtPjk; Fiwt[ 

A) 16 
2

3
   B) 21 

3

5
                          C) 20    D) 11 

1

4
         

 

129. If the selling price of 50 articles is equal to the cost price of 40 articles, then loss or gain % is ? 

50 bghUl;fspd; tpw;gid tpiyahdJ 40 bghUl;fspd; mlf;f tpiyf;F rkk; vdpy; mtu; mila[k; 

nyhgk; (m) el;l rjtPjk; fhz;f: 

A) 20% Loss   B) 20% Gain   C) 25% Loss   D) 25% Gain 
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130. Two numbers are in the ratio 1:2 If 7 is added to both, their ration changes to 3:5 the greatest number is 

nU vz;fspd; tpfpjk; 1:2 me;j nuz;L vz;fSld; 7-ia Tl;odhy;, vz;fspd; 

tpfpjk; 3:5 vd khWk; vdpy;, nuz;L vz;fspy; bgupa vz;iz fhz;f. 

A) 28   B) 33    C) 49    D) 55 

 

131. The fourth proportional to 5,8,15 is 

5,8,15 Mfpa vz;fspd; ehd;fhtJ tpfpjrkd; fhz;f 

A) 18   B) 19    C) 21    D) 24 

 

132. The average age of man & his son is 48 years. The ratio of their ages is 11:5 respectively What will be ratio 

of their ages after 6 years  

mg;gh & kfdpd; ruhrhp taJ 48 tUlA;fs; mth;fspd; taJfspd; tpfpjA;fs; 11:5 

vdpy; 6 tUlA;fSf;F gpd;dh; mth;fspd; taJ tpfpjA;fs; 

A) 6:5   B)5:3    C) 4:3    D)2:1 

 

133. The average age of a man & his son is 35 years the ratio of their ages is 5:2 respectirely what is the son’s 

age? 

mg;gh & kfdpd; ruhrhp taJfshtd 35 tUlA;fs; mth;fspd; taJfspd; tpfpjA;fs; 

5:2 vdpy; kfdpd; taJ vd;d?; 

A) 50   B)35    C)15    D)20 

 

134. If 100 men can do 100 work in 100 days. Then 1 man will do 1 work in how many days? 

100 kdpjh;fs; 100 Btiyia 100 ehl;fspy; Kof;fpd;wdh; vdpy; 1 kdpjd; 1 

Btiyia Kof;f vt;tst[ ehl;fshFk;. 

A) 1days   B) 10days   C) 100days   D) 200days 

 

135. A and B can do a work in 10 days and 15 days respectively.If they work at it on an alternate day, A starting 

first in how many days the work will be completed? 

A&B xU Btiyia KiwBa 10& 15 ehl;fs; bra;fpd;whh; mth;fs; nUtUk; 

mLj;bjLj;J ehl;fs; bra;fpd;wdh; Kjypy; A mt;Btiyia Muk;gpj;jhy; mt;Btiyia 

Kof;f vt;tst[ ehl;fshFk;. 

A) 6days   B)10days   C)12days   D)15days 
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 Directions (Q. Nos. 136-140) 

Study the following information carefully and answer the given questions. 

Seven people i.e., A, B, C, D, E, F and G are going to Delhi on seven different days of a week 

starting Sunday to Saturday. All the information is not necessarily in the same order.  

G goes on Wednesday. Two people go between G and A. Number of people go before A is the 

same as after C. Two people go between B and D. D goes after G. Only one person goes between 

B and E. F goes between C and B. 

fPo;f;fz;l jfty;fisg; gbj;J tpdhf;fSf;Nfw;w tpilaspf;fTk;. 
A, B, C, D, E, F kw;Wk; G Mfpa VONgu; QhapW njhlq;fp rdptiu VOehspy; nly;ypf;F 
nry;fpd;wdu;. G vd;gtu; Gjd; fpoik nry;fpwhu;. G kw;Wk; A-d; ,ilapy; ,UtH nry;fpd;wdu;.    
A-w;F Kd;du; vj;jid Ngu; nrd;wdNuh mNj mstpy; C-w;F mLj;jjhf nry;fpd;wdu;. B kw;Wk;   
D-apd; ,ilapy; ,Utu; nry;fpd;wdu;. D vd;gtu; G-w;F mLj;jjhf nrd;Ws;shu;. B kw;Wk; E-apd; 
,ilNa xNu xUtu; kl;LNk nrd;Ws;shu;. F vd;gtu; C kw;Wk; B-apd; ,ilapy; nrd;Ws;shu;. 
 

136. How many people go after C? 
C-w;F mLj;J vj;jid Ngu; nrd;wdu;? 
A) 5   B) 3    C) 2    D) 6 

 
137. Who goes on Saturday? 

rdpf;fpoik nrd;wtu; ahu;? 
A) E   B) A    C) D    D) G 

 
138. F Goes on which day? 

A) Thursday   B) Sunday   C) Monday   D) Tuesday 

F vd;gtu; ve;j jpdk; nrd;whh;> 
A) tpahod;  B) QhapW   C) jpq;fs;   D) nrt;tha; 
 

139. How many people go between F and A? 
F kw;Wk; A-tpd; ,ilapy; vj;jid Ngu; nrd;wdu;? 
A) 4   B) 3    C) 1    D) 2 

 
140. Who goes on Thursday? 

tpahod; nrd;wtu; ahu;? 
A) E   B) A    C) D    D) B 

 

 

 

 

 

 


